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POPULATION STUDIES

Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the
questions given below (1 to 6):

The geographical setting of a town is
of great importance in determining the
quality of urban environment, stimulating
its further growth and occasionally
threatening its very survival. The physical
attributes of a town influence its
attractiveness to residents and outsiders
alike. Much of the beauty of a town is
inherent in its location and surroundings
and it is for this reason that planners take
care in selecting a proper site for a new
town. A city with hills and a rolling terrain
has greater charm than a flat city; further, a
city having features of scenic beauty like a
lake, a river, a beach or a good view of
magnificent snow-covered maintains has
natural charm. On the other hand, the
geographical setting of a city may pose a
serious threat to its survival. Many cities of
the world have been destroyed by floods,
earthquakes and other natural calamities.
Cities located on flood plains obviously
face a threat. Often flash floods on smaller
rivers are for more devastating than the
flooding on larger rivers.

1.  Quality of urban environment is
determined by which of the
following ?

(A) Size of the urban population
(B) Size of the urban settlement
(C) Geographical setting

(D) Traffic flow

2.  What are the factors which planners
consider in selecting a site for a new
town ?

(A) Location

(B) Surroundings

(C) Physical attributes
(D) All the above
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Geographical setting may pose a
threat in the event of

(A) Congestion

(B) Natural Calamities like floods
and earthquakes

(C) Pollution

(D) Settlement density

Cities located on smaller rivers are
likely to face the threat of

(A) Floods

(B) Flash floods
(C) Urban sprawl
(D) Transportation

A town becomes attractive to its
residents and visitors alike because
of

(A) Scenic beauty
(B) Physical attributes
(C) Infrastructure
(D) All the above

In the past many cities have been
destroyed due to

(A) Natural calamities

(B) War

(C) Political unrest

(D) Pollution and congestion

Which among the following States
contributed to the maximum decline
in overall decadal growth rate of the
country ?

(A) Uttar Pradesh
(B) Madhya Pradesh
(C) Maharashtra

(D) Bihar
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TG AT
v — 11

A T AT H TR (75) Fg-ahedid W € | Heeh U AT (2) SR T | et 1T A € |

(1 ¥ 6) % I INT;

IEX W TAERUT I IO HEROT
A T, THEH 9 [T i Wl IS
% foTT qem it ST & Siied o @l o
T & fofw et ¥T o1 wimiforss et
3T Hewaqul & | ITeT ! UThideh foRrsans
TRl & Hentaal T2 IRy & ANl S qHE
T F 3BT Al & | Bt wex B Tootear
o1 et 7% SgH! rafedfd qUr 3Hh aiew
¥ 39 forrad o foerar € oiR @@t Rt € 6
AR T I & o0 et &1 997 H |
g T SRAd € | UeTedt au gereR -
AT ATt T § BT 7T dTet e bt 3TeT
31T TR Bidl & | $9oh STTdNaRT Thideh
Ie7 qddl I GRY guAEel ¥ I wel H
Wi T Bt & | TR ST foRdt wIeT
Ariferer UfdereT 3T i & ot @ o=
THaT € | fava & e R aTE, g ae
3 WIHH SIS FRT ded--ed fhu ST
TH § | Tk TR AT HIHT Tk ATt -
G T STE e Gl B AT A € |
g1 Bl ARA H TFHE 3 T ATl g
UL TSl Al H THdTel aig o 31T
fomTeTshRt B € |

1. T@Y % UAEROT H ORI HHEROT
Frefetad 5 § s §RT foham ST & 2
(A) T SHEEAT H THN
(B) & afkal s STHR
(C) immifeTeh ufqarsT
(D) T vaE

2. @l ¥ W & foT WA & wET A
AR foh arel W oA i € 2
(A) st
(B) uRawr
(C) vl feroroamd
(D) Sue Ft
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3.

frfafea & 4 fegs wfcd g9 W
HATifeteh Uierel Wl Sca=1 Y Tehdl ¢ 2

(A) = T
(B) TITHiaeh SMUSTE S o1 T Yhd

(C) wgmor
(D) sl & T

Bl A & d¢ W AR I W
T Gl BT & |

(A) w1¢

(B) 3OS 9@ (TR FTe)
(C) v=L eyearedd et
(D) uNEET W

frfafad & 9 fFg FROVEROT | HIT
YT 8T o fenteEr i iR <
foTT STTeheyeh e & 2

(A) WTHiae digd |

(B) TEplcieh fererorary

(C) 3EET=T

(D) Sww =l

TSl § 3T TY ol 0T T8 d-ed
TIHE?

(A) TR STRTE

(B) I=

(C) TIifees 3rdam

(D) VIgET qAT e

I I TAY 59 AP Ig-aX P g9 H
Tt o 9 fhaer ameE sifesaa
o ?
(A) ST AR
(B) e WS
(C) wemrz
(D) fww
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10.

11.

12.

13.

Arrange the following States in
ascending order according to the

number of migrants in their
population :

(i) Delhi

(i) Haryana

(iii) Maharashtra

(iv) Punjab

Codes :

(A) (@) (i) (i) (iv)
(B) (i) ) @) )
(©) (v) () (i) (i
(D) (i) (i) (iv) (i)

Maximum female migration in India
is observed in

(A) Rural to Rural Stream

(B) Rural to Urban Stream

(C) Urban to Urban Stream

(D) Urban to Rural Stream

Percentage of life time migrants to
total population of India is
approximately

(A) 25 percent
(C) 35 percent

(B) 30 percent
(D) 40 percent

The total number of illiterate women
in India as per 2011 Census Statistics
is close to

(A) 200 million
(B) 225 million
(C) 250 million
(D) 275 million

The average density (per sq. km.) of
population in India as per 2011
Census figures is around

(A) 350 (B) 360

(C) 370 (D) 380

The maximum proportion of women
in female-headed households is
(A) Divorced

(B) Married
(C) Never-married
(D) Widowed
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14.

15.

16.

17.

18.

The proportion of female-headed
households in India ranges between
(A) <10 percent

(B) 10 to 15 percent

(C) 15.1to 20 percent

(D) > 20 percent

Who among the  following
Demographers has presented first the
Theory of Demographic Transition in
an almost mature form with
explanation for the changes in
fertility ?

(A) Landry

(B) Warren Thompson

(C) Frank W. Notestein

(D) C.P. Blacker

How many times National Family
Health  Survey  (NFHS) was
conducted in India ?

(A) Two times

(B) Three times

(C) Onetime

(D) Four times

Which was the nodal agency chosen
for conducting National Family
Health Survey in India ?

(A) National Institute of Health and
Family Welfare (NIHFW),
New Delhi.

(B) International
Population
Mumbai

(C) National Institute of Nutrition
(NIN), Hyderabad

(D) Tata Institute of
Sciences (TISS), Mumbai

Institute  for
Sciences  (IIPs),

Social

When India Government has adopted
Family Planning Programme ?

(A) 1952 (B) 1951
(C) 1953 (D) 1949
5-15-13



8.

10.

11.

12.

13.

frefetaa o= @ 3 SHEen |
et s WA % STER TR o1 |
GUIERE

(i) feoott

(i) eRamm

(ili) TR

(iv) o
FE :

(A) ()

(B) (iii)

(i) (i) (iv)
(i) (i) (iv)

C) (v) () (i) (i)

(D) (i) (i) (iv) (i)

TR | feehdy Afget Jag- Fefarad
o fhas 3@ S € 2

(A) TiE g e o

(B) T @ W H

(C) eI H

(D) I ETEH

3TSTe et bt Ufaeraar 9Rd
ol STHGEAT Sl T

(A) 25vfaed e | (B) 30 Ufdw € |
(C) 35ufavde | (D) 40uawE e |

g 2011 FH STATUAT FiRTh! & 3TAR
YRA § ST AfeeTatt bl T T
fepertt & 2

(A) 200 faferzm

(B) 225 Mfer

(C) 250 fferem

(D) 275 fiferem

T 2011 T STTUMT & ARG & STAR
IR H SHOET 1 Sad g+ (U o
TheAmey) FAfaied 5 & fhas 3md-
T ?

(A) 350 (B) 360

(C) 370 (D) 380

Afeet A aret =X | {hd TR &
AgcATeT T ST STk & 2

(A) TR

(B) foenfea

(C) 3Ttia atfaated

(D) fawgen
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14.

15.

16.

17.

18.

IRA ° S-gREdr oo B #T ST
 mAdmE

(A) < 10 wfcerd

(B) 10 ¥ 15 uferd

(C) 15.1% 20 Hfqwrd

(D) > 20 wfcerd

fffaq @ 4 o9 SHithsieR o
TSRl § URede i SARe |ed
T qRUe Y T ST Tl
EEARICARCE R R I I R E 2

(A) @t

(B) @A orqe

(C) e Ty, AT

(D) HO =R

IRA U UL URAR @ HaeToT
T SR fohT T € 2

(A) T &R

(B) @ aR

(C) THaX

(D) =IXIR

TRd | IEE URER @R HAel

TAeTd 3 & Tow ffeiaa o 9 fd

Treet TSl % &9 § AT T4 2

(A) LT W Td qRaR HedmT
TIH (THRTIURES), 72 fSeett

(B) SiE™ SHEEN famm g
(e, go

(C) U dwoT T (TAAET),
ECUEIC

(D) Z@r gme fagm g
(SraméTaTT), qag

R TSR 7 TR I HE%A &
YT ?

(A) 1952 (B) 1951

(C) 1953 (D) 1949
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19.

20.

21.

22.

What is the optimum number of ante-
natal care visits by health worker
prescribed by Government of India ?
(A) 2 (B) 3
€ 4 (D) 5

What is the source for calculating
Below Poverty Line (BPL) in India ?
(A) Census

(B) National Sample Survey

(C) Sample Registration System
(D) National Family Health Survey

Which one of the following
numerator adjustment method is used
in computing infant mortality rate ?

D3 + D}
(A) MR, =5 1000
D5 D3
B) IMR,=|5+35|x1000
(B) 2 {Bl Bj

D,(1-f) fD,
(C) IMR,= B—2+B_1 x 1000

D2
(1-fHB,+ 1B,

(D) IMR,= x 1000

Given the population size of two
points in time, one can compute the
rate of population change by the
following indicators :

I Arithmetic rate of population

growth

Il. Geometric rate of population
growth

1. Exponential rate of population
growth

Code the combination  which

describes their actual order, from

large to small :

Codes :

(A) 11,1

(B) I, 11,1

C©) 1

(D) I, 1,1
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23.

24.

25.

Full child immunizations covers the

following immunizations. Code the

correct combination.

(A) BCG + Polio + DPT + Measles

(B) BCG + 3 Polio + At least one
DPT + Measles

(C) BCG + At least one Polio + At
least one DPT + Measles

(D) BCG + 3 Polio + 3 DPT +
Measles

Arrange four events related to family
welfare programme according to time
period, earlier to more recent ones :
(i) International Conference on
Population and Development

(ICPD)

(i)  Reproductive and Child Health
(RCH)

(i) Child  Survival and Safe

Motherhood (CSSM)
(iv) National Rural Health Mission

(NRHM)
Codes :
(A) (i) (1) (i) (iv)
(B) (i) (i) (i) (iv)
€) () (i) (i) (iv)
(D) (i) () (i) (iv)

Assertion (A) Uttarakhand had
experienced natural disaster in
recent past.

Reason (R) : It may be attributed to
unplanned development in and
around its vicinity.

Codes :

(A) (A) is correct and (R) is not
right explanation for (A).

(B) (A) is not correct and (R) is
also not correct.

(C) (A) is correct and (R) is the
correct explanation of (A).

(D) (A) is wrong and (R) is also
wrong.
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19.

20.

21.

22.

TRA TR A, @ HEh gR1 999
d Al aR J@-ATe JRT fREr S
i fpan & 2
(A) 2
(C) 4

IR § e @ & A (@ier) @
g AN e SEH % fomw
frfafad & @ fh |ia &1 3uanT 6
ST & 2

(A) STITOTET

(B) 2R HYer TeigTor

(C) Hqet TUSTihToT JoTet

(D) UL UNER T FaeToT

(B) 3
(D) 5

By g9 R % uReed & f@w
Fafafed 4 9 fog favres gaEsH
fafy =1 STt foma ST 7 2

D3 + D)
BZ
B) IMR,=|5+5|x1000
®) 2B, B,
D2(l—f) fD2
(©) IMR,=| =5+, | x1000
(1-1B, + 1B,

(A) IMR, = x 1000

(D) IMR, x 1000

T U 3 65T W STHEE 6 SHR
SHEE | e # § A U
fopam ST Hepe €

|, SFEE G9fg i ST 53
Il SHeE 9gig i samfas 3
I, SHE@T gfg i =i 33

T B H AR 3% ARAGH HH H
oo forar T E |

FT

(A) 1,10, 11

®) 11,1

© 1,1

D) 1,11, 11

S-15-13

23.

24.

25.

quT Y] faRIor % SR FHeferad

TCRETOT SN & :

T i i fafed wifsw -

(A) ST + Tiferar+ St + TERT

(B) St + 3 Wiferal + $H-9-%HT TH
S + T

(C) <N + HH-9-%9 TH aiferdr +
FHH-T-HT T S + T

(D) Rt + 3 wferar + 3 SR +
EELS Ny

IRER FeamoT HEHT T G 9

T3 I FHAEY & AR Ue el

Y % det & T § AR DT ;

(i) ST HORE 3T AR T0E
AN (3T 9T Ot )

(i) Toieiea we ares & (W 4t
T=)

(iii) <o WARTA TWE UF HIES
(¥ TH 7w )

(iv) WEea W gou R (T aR
T TH)

FE:

(A) (i) (1) (i) (iv)

(B) (i) (i) () (iv)

© (@ (@) (i) (iv)

(D) (i) (1) (i) (iv)

AfwTT (A) : FA W IWEUS A

TTShTceh ToTST T ST e T € |

FHRUT (R) : TH STEUE § T 39
Y- AT [T & HROT
S HHAE |

(A) (A) T & 3R (R), (A) &1 Tl
TR oI T |

(B) (A) W&l Tl & 3% (R) ot @&t et
T |

(C) (A) T & T (R), (A) F Tl
WS & |

(D) (A) Teid & @ (R) off 7To1a € |
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26.

217.

28.

29.

India’s Population Policy of 2000 has
focussed on which of the following
fertility indicator ?

(A) CBR

(B) NRR

(C) Unmet need

(D) None of the above

The following indicators of mortality
are given :

l. Neo-natal mortality

I1.  Post neo-natal mortality

I1l.  Infant mortality

IV. Under-5 mortality

Code the combination which
describes their order, low to high :

Codes :

A IV
® 1 1 nmov
€ 1 monov
O v 1 1

Civil Registration Statistics generally
collects data on

l. Births

Il. Deaths

I11.  Cause of death
IV. Marriages

In India, Sample Registration System
collects the following types of data.
Choose the correct code :

Codes :
A 11V
@ 1 1o
© 1 u v
D 1 1

Which one of the following proposed
Epidemiological Transition ?

(A) Caldwell

(B) Omran

(C) McKeown

(D) Notestein
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30.

31.

32.

33.

Which one of the following is correct

in explaining an ecological unit ?

(A) Audience in a Movie Theatre

(B) A Range of Valleys and
Mountains

(C) A City with its satellite towns

(D) All the above

Which of the following assumption is

correct for stable population ?

(A) Age-specific fertility and age
specific mortality has remained
unchanged in the past.

(B) Fertility and mortality has
remained unchanged in the
past.

(C) Age-specific  fertility, age
specific mortality has remained
unchanged and migration is nil.

(D) None of the above.

Arrange the following States by their
sex ratio in Census 2011, from high
to low :

(i)  Tamil Nadu

(i) Karnataka

(iii) Andhra Pradesh

(iv) Kerala

Codes :

(A) () (i) (i) (iv)
(B) (iv) () (i) (i)
(C) (iv) (i) (i) (iii)
(D) (iv) (i) (i) (i)

Arrange the following States by their
current level of infant mortality from
high to low :

(i) Odisha

(i) Madhya Pradesh

(iif) Uttar Pradesh

(iv) Bihar

Codes :

(A) (1) (i) (i) (iv)
(B) () (iv) (i) (iii)
(€ @) () (iv) (iii)
(D) (i) () (i) (iv)
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26.

217.

28.

29.

IRA  H  SHG@n  Aifd, 2000 o
FrAtefiga Teeiierar Sehdehl § 9 foha
TR A hig fohaT T E 2

(A) @ &t e’

(B) T 3R AR

(C) 319 TavaHa

(D) S ® A Hig TE

T o FEATeARad Hehash KT T &
I asTa T s gogan

Il o fore] ot TaeR gogan
1. Tore] gegan

V. 53999 %9 g & gogar
T T 9 3T 3T N T
FeT !

A 11V

@ 1 1o

€ I mounov

D) IV 1 11 1l

AR USR] Wit W AT
frfefaa & day 4 g U fhU
SIck

l. S

. g

1. 5o 1 HROT

Iv. foam®

TRG H Uldey USTeROT  Wome |
FTfRad TR & 3iTehg U U ST
T | el < N 9T HINT

FT :

A) |
|B) |
<€) |
(D) |

TSR 2o
forgent 37 & 2
(A) FHegdd
(B) R
(C) TwaM
(D) ArewerET

i W
i1
iV

I

N foEr
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30.

31.

32.

33.

T TR g1 ol T i & fow
frfafed d @ s A @ & 2

(A) T U § Terted ST 39
(B) wfeal 31T qddi =i Ush Sl
(C) 37U STIET IR & T g TR
(D) ST &+

fer A9 & g9y | Hefdtea 5 9

I G YR el & 2

(A) TIMARTE SHAHA dd o9-
fatre  adar fam@ a9t o
3TaRafad W@HE |

(B) S &THAT T WA forTd oot |
3TaREfad W@ E |

(C) =FfaRTe S dar =3-
faferee Tedan smafiafaa @ & aen
HIT Yo e g ¥ |

(D) S H A HiE TE

o 2011 & SEOORT # @ e ferm
3O & SR, 3°9 ¥ 4 &% %9 H,
TATcREd 9l ol et HiT

(i) deETg

(i) wew

(iii) = weT

(iv) *

2 -

* G

(i) (i) (i)

(B) (iv) (i) (iii) (i)

(C) (v) (i) (i) (iii)

(D) (v) (i) (i) (i)
frfafaa st &I, 38 R 9 &
A o TR % 399 W IE F T 6 %A
T, eI ST

(i) sfea

(i) 7= w_wT

(iii) TR U=

(iv) TR

A

(A) (1) (i) (i) (iv)

(B) (i) (iv) (i) (iii)

(C) (i) (1) (iv) (iii)

(D) (i) (@) (i) (i)
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34. What are the data requirement to

35.

36.

37.

calculate the neo-natal mortality in

the year 2000 ?

(A) Deaths in the first month of life
and births in the year 2000.

(B) Deaths in the first year of life
in 2000 and births in the year
2000.

(C) Deaths in the 1 — 11 months of
life in 2000 and births in the
year 2000.

(D) Deaths from the 7" month of
pregnancy to first month of life
in 2000 and births in the year
2000.

Think of different columns of life
tables like 1, .a,, L, and T,. l;o
(expectation of life at age 15) is
computed as
L
15
A 1
15
Tis
B 1-
15
Tis
C —_—
©) Le

(D) None of the above

Name the recent source of data on
morbidity :

(A) Sample Registration System
(B) Census

(C) National Family Health Surveys
(D) National Sample Survey

Out of eight Millennium
Development Goals (MDGs), how
many of them relate to the health
sector ?

(A) One
(B) Two
(C) Three
(D) Four

Paper-I111

10

38. Some

39.

40.

important National/
International Days are shown in
List — | and their dates in List — II.
Match the days with their dates :

List— 1 List— 11
a. World Population 1. March 8
Day
b. International 2. May 31
Women Day
c. World Anti- 3. July 11
Tobacco Day
d. International Day 4. October 1
of Elderly
Codes :
a b c d
A 1 2 3 4
(B) 3 1 2 4
© 3 2 4 1
(D) 3 4 1 2

India’s National Population Policy of
2000 has goal of population
stabilization. Choose the code which
is true for India :

Codes :

(A) TFRof2.1
(B) NRRof1.0
(C) CBRof21
(D) None of these

Replacement  level fertility is
measured by which of following
indicators of fertility ?

(A) TFR
(B) NRR
(C) GRR
(D) CBR
$-15-13



34. ad 2000 H FasTa OTg] el o URehor

35.

36.

37.

% ToTT foh 2T 1 3Tarv el BT 2

(A) ag 2000 H Sed & W A o
Tq el Bl ST a9 a9 2000 H
ST et Sl G

(B) @y 2000 ¥ SiaT & W a9 | 9o
Tt St W& T 99 2000 H ST
Eica ke

(C) = 2000 H Sfem & Tgod 4,
Red O % AR gd Sedl
T qAT A 2000 H ST T4 B
&

(D) a9 2000 H THEH % 7 HE H
TH S % TH T & 3 g
Tl St WA qT 99 2000 H S
Tl St @

Strer FRvrE % fate=t @i <9 1, | q,,

oL, T T, W e i | g (15 3

ST T ST T TRt [

PEATAED) ST ?

(A)

I‘15
I15

(B)

©)
(D) 39w ¥ ¥ fohd UhR et

AT W ‘T2’ (3hg) & oW e
HI T AT AT

(A) T ST JoTett

(B) SFIOFT

(C) UET URER T TaeTor

(D) ST WEICT FERIOT

T faer @l (THesT) &3S
T 4 9 fepde @ % &7 9 Helfud
£

(A) T

(B) =i

(C) @

(D) =W

Tis
li5
Tis
Lis
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38. Al — | W FB HEwOUl AL/ HRIE

39.

40.

feami &% 9 fgu 0 & q g - Il |
3T IS B A T E 1w

feardt @t e faferat 9 gafea ST ;
= - | = - 1
a. e sEErfem 1. W98

b. R Afeen fgem 2. #E31

c. fova e feREr 3. SoE 11
feag

d. fove segs o™ 4, FFT 1
FT
a b C d
A 1 2 3 4
® 3 1 2 4
© 3 2 4 1
D 3 4 1 2

IRAE T SHE@ AT 2000 H
SEE ke & oeg € | YR &
T WEr Fis 1 TF HiT

HE
(A) 2.1 F 3 TH AW

(B) 1.0 T U 3TN 3T
(C) 21 & A&t W
(D) S H A HiE TE

YT T SRTHaT i Fterad o
Y fFy gueh o T AT S § 2

(A) T TF AR
(B) TT W IR
(C) St aR &R
(D) s AR
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41.

42.

43.

44,

Match List — I with List — 11 ;

List— | List - 11
a. Index of overall _ Zhlu1
fertilit I
Yy *F,U,
b. Index of marital _ XFm,
fertilit 1.
y *F,W,
c. Indexof fertility of ~  Xf W,
non-married women HL.&-
kW,
d. Index of the - Zgymy
roportion of V.5
Fnareied women 2Fm
Codes :
a b c d
(A) i i iv iii
(B) i ii iii iv
(C) iv iii ii i
(D) iii iv i ii

The Sample Registration System
(SRS) has been providing reliable
estimates of which among the
following ?

(A) Fertility only

(B) Mortality only

(C) Both Fertility and Mortality
(D) None among the above

Which of the following States has
lowest use of temporary
contraceptives methods according
to National Family Health Survey
2005-06 ?

(A) Andhra Pradesh

(B) Kerala

(C) Jammu & Kashmir

(D) Assam

Which of the following States has the
highest use of temporary
contraceptive methods according to
National Family Survey 2005-06 ?
(A) Bihar

(B) Maharashtra

(C) Kerala

(D) Delhi

Paper-I111
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45.

46.

47.

48.

49.

Which one of the following is not a

component of direct anti-natalist

policy ?

(A) Provision of
Services

(B) Incentives for
Family Planning

(C) Liberalization of Abortion Laws

(D) Raising age of Marriage

Contraceptive

adoption of

Who proposed Threshold Hypothesis
in Fertility ?

(A) Becker

(B) Dumont

(C) United Nations Organisation
(D) Caldwell

Who among the following viewed
that children have utilitarian value ?

(A) Caldwell
(B) Leibenstein
(C) Becker

(D) Judith Blake

Which one among the following is
considered effectiveness of oral pills
while computing couple protection
rate ?

(A) 50 percent

(B) 75 percent

(C) 95 percent

(D) 100 percent

For Estimation of Singulate Mean

Age of marriage using Hajnal’s

method, which among the following

assumption is correct ?

(A) Both fertility and mortality
have remained constant in past.

(B) Marriage has remained
constant in past.

(C) Fertility has been constant in
past.

(D) Mortality has been constant in
past.
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41, g=Et — | ® gE - |1 % 9 gafed
T
= - | =it - 11
a. FAWFAHRAGTH  ThU,
" SFU,
b.  defeeh ot _ZFm,
REeED I W
c. Hfoenfed wleemais  Tf,W,
ST oh1 T . SF,W,
d. foefed dfeem srqma - £g,m,
T T I V. SF,m,
FT
a b C d
A i i v i
B®) i Qi i v
© iv i i i
(D) iii v i i
42, YIRSl USTehoT YOTIedl (U9 TR wd) H
fr=fefad § 9 g gy | favaga
3T STy fohT T € 2
(A) HaeT YT
(B)  haret Fge '
(C) USH-RIeIdT 3 Jogar gt
(D) S | § HE T
43. T URER W GO 2005-06 %
STER HHfcfad Tt # | 59 59 |
SR T FRgw ot s 3uwEm
A g3 2
(A) 3Ty wew
(B) oA
(C) ST 3R HIUR
(D) emam
44, T URER W G 2005-06 &
SR FATeEa el 5 9 forg g °
st ™ TRges fafet wr sttsad
3IqgRT foRa T 2
(A) far
(B) wermL
(C) ==
(D) feoett
S-15-13
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45.

46.

47.

48.

49.

frfafad & @ S QU S R T8

¥ foreeg, wreaer <iifq 1 T2 T € 2

(A) T FRIYs YareT S e

(B) WRem fwaisH @R & fow
EIRsIER |

(C) Tvure Heiedt et o SRR

(D) faame =t 2 FEr

TEEHA W ‘deliee gRuiditEd @
T e e feopam 2

(A) =%

(B) gl

(C) W g 7

(D) wIeeae

frfefad 5 9 foousd foar 9 st =&
SYANTAETET Jod &l & ?

(A) e

(B) wliaers

(C) =%

(D) Sifes =i

U S R I 1 IR B T
fr=fefad & & 68 @ e e w5

TTEehINAT THE ST € 2
(A) 50 UfcTeTe =t

(B) 75 ufceTe =t

(C) 95 ufcwre =t

(D) 100 Ui

&STeT 1 T 1 SN Tl gU forae

i Feie wream o1y (Repete |4 ot U

ATy & fou fefated & @ @ @

ROT e & 2

(A) I § USRI 3T gogar g
THTEH &l & |

(B) Ud H foam® THEHH W B |

(C) U8 " USHASNeIal UHEHM &l
g |

(D) 9o W FoIe UHHAM T & |
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50.

ol.

52.

53.

Which among the following is not a
natural contraceptive method ?

(A) Coitus interruptus

(B) Celibacy

(C) I1UCD

(D) Periodic Abstinence

Assertion (A) : Most of the North
Indian States have attained
Replacement level of fertility.

Reason (R) : It is due to slow decline
in the growth of the population
among the North Indian States.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The infant mortality rate of the
country as per SRS Bulletin October
2012 falls in which amongst the
following categories ? (Per thousand

live births)
(A) 1-19.9 (B) 20-29.9
(C) 30-39.9 (D) 40-49.9

Assertion (A) : In India fertility
showed declining trend since
late seventies.

Reason (R) : Mainly because infant
mortality rate has also showed
declining trend simultaneously
since late seventies.

Codes :

(A) (A) is correct and (R) is not the
correct explanation of (A).

(B) (A) is correct, but (R) is the
correct explanation of (A).

(C) (A) is not correct and (R) is
also not correct.

(D) (A) is correct, but (R) is not
correct.
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54,

55.

56.

S7.

For calculation of General Marital

Fertility Rate the denominator is

(A) unmarried women 15 — 49 age
group

(B) population in the age group 15
— 49 years

(C) all women in the age group (15
-49)

(D) married women in the age
group (15 — 49) years

As per the SRS Bulletin October
2012, estimated natural growth rate
lies in which among the following
categories ?

(A) 10.1-12
(C) 141-16

(B) 12.1-14
(D) 16.1-18

United Nations Age-Sex accuracy

Index considers

(A) Mean deviations at the age
ratios for males from 100

(B) Mean deviations of the age
ratios for females from 100

(C) Three times the mean of the
age differences as reported sex
ratios

(D) All the above

Match List — | with List =11 :

List—1 List— 11
a. Speare i. Mover-Stayer
Model
b. Markov- ii. Economic
Chain Considerations
Model
c. Lee, Fei iii. Cost-Benefit
and Rains Model
Model
d. Todaro iv. Wage
differentials
Codes :
a b c d
(A) i iv i iii
(B) iv i i iii
(C) i iv iii i
(D) iii i iv i
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50. FATAREd | i 9t Wbl T

o1.

52.

53.

fafa 781 & 2
(A) T I
(B) weHId
(C) sy
(D) aTafys o

aAfirpe (A) : I URA & AU
T A USRI o it
T I Y e €

% (R) : 98 I 9Rd & T A
e & Ggtg W A oSt o
fRTe 3TH % PRV LT T |

ETE

(A) (A) & (R) 3 F&l € X (R),
(A) T T& AR E |

(B) (A) 3R (R) SHI Wel T e
(R), (A) & TE = T ¢ |

(C) (A) W& g, &fera (R) Toid |

(D) (A) 7o €, wifeh (R) W&l & |

T 3R UH Folfed, TaER 2012 &
3TER I i T gegan ¥ FAfetfad
Aot & F 59 Sl & iciq o1 & 2
(T T &R Sifad S0 o)

(A) 1-19.9  (B) 20-29.9
(C) 30-39.9 (D) 40-49.9

ATTHAT (A) : IRA § RS 96 &
STRY ¥ USRI | fTRTee i
ygt fe@rg §F |

% (R) : T9%T & HRUT Fad 396 F
I ¥ RR] g A S H
BT ot femrar € |

(A) (A) T ¥ 3 (R), (A) & Ter
AT TR T |

(B) (A) Wl & wf (R), (A) = Tl
T E |

(C) (A) W&l =& & 3iiX (R) +ff @&t e
T |
(D) (A) Wl g, Afh (R) el T&l ¢ |
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54,

55.

56.

S7.

=T ddTieeh USTHAT 33 % UReher &

o frtefaa &1 fenfrer w=n e 2

(A) 15 — 49 g T H Jdaied
Hfgems

(B) 15 — 49 o4 = Mg g HI
STEET

(C) (15 — 49) 31g T9g § Tt Afeemd

(D) (15 — 49) a9 = oMy W ¥
feranfe wfecms

T R TH Folfed, TRER 2012 &
FTEN A i HgE W
Ffarad & & fod STt & Sfaia STt
T2

(A) 10.1-12
(C) 14.1-16

(B) 12.1-14
(D) 16.1-18

g § v 9ga T 3g-forT

TTIAT Fehich FHEN ST & 2

(A) 100 & & q&UT % feTT 31g Turd
e faee

(B) 100 & & #REenslt & fow Mg
3T 1 Hred foaer

(C) gfad fomm T & ®9 H 31Yg
3TRT & |1 1 A AT

(D) SwRIeRT Tt

A — | @GR - 1 % Er gHferd
FHIfTT

= - | =t - 1
a. TR i, TR IR Hiee
b. AEE-TT i, THHITES

Hreet FHHEE

c. ol W aA iii. pre-aflre Aiga
w ~

d. =R iv. as femiferaer
E T
a b c d
(A) i iv i iii
(B) iv i i iii
(C) ii iv iii i
(D) iii i iv i
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58.

59.

60.

61.

Which one among the following is
not matched correctly ?

(A) Life table Age Specific
Death Rates
(B) Usage of : Couple
Contraception Protection
Rate
(C) Crude Death Child Women
Rate Ratio
(D) Age Specific : Total Fertility
Fertility Rate Rate

Arrange the following in ascending
order of formation :

(i) City

(i)  Metropolis

(iii) Conurbation

(iv) Urban Agglomeration

Codes :

(A) i i iii iv
(B) iv ii i iii
(S i ii iv
(D) i iv i iii

The Total Fertility Rate is

(A) the total number of children
born in a country in a given
year divided by labour force.

(B) the number of children born to
the average woman during her
reproductive years.

(C) the number of births
country divided by
population in a given year.

(D) the number of women age
15 — 45 in a country divided by
total population.

in a
total

China and India constituted around
percentage of the world’s

population.

(A) 40 percent

(B) 10 percent

(C) 80 percent

(D) 0.10 percent
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62.

63.

64.

65.

66.

With population growth rate of 1.0
how much time it would take to
double the population ?

(A) 28 years (B) 46 years
(C) 70 years (D) 100 years

The disease burden could be
measured by the following index :
(A) Mortality adjusted life years
(B) Premature deaths

(C) Mortality-fertility ratio

(D) Disability adjusted life years

What  proportion  of  world’s
population lives in developing
countries ?

(A) Approximately 35%

(B) Approximately 80%

(C) Nearly 10 billion people
(D) Less than 1 billion people

Most of the early development in

demography took place in

(A) England, France, Germany and
few other European countries

(B) United States of America and
few Latin American countries

(C) Australia, India, China and
Russia

(D) None of the above countries

Assertion (A) : By National Family
health survey it is found that
Several North Indian States
fertility is still higher as
compared with the South
Indian States.

Reason (R) : It is mainly because in
the North Indian States ‘unmet
need” of contraceptives of
eligible couples.

Codes :

(A) Both (A) and (R) are true and (R)
Is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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58. frfeifaa & @ i a1 gafed @ € 2

59.

60.

61.

(A) Stia= afersr ;. eTg-fafere goegae
(B) ™ figel : gmid gwm R
T T (I TR ¥2)
(C) sremfea . SToT-HfgeT S
AT
(D) mg-fafere
S T

. P X

frfafed & 979 & oRE w9 o
AT HINT

(A) TR

(B) #WeEW

(C) WM™ 3fdfe
(D) ¥t e

HE

A i i i v
®) v i i i
© i i i v
© i v Qi i

AR

FHT USTH S HTE 2

(A) B 3o foplt, fsT 0 a9 H e
TT =i S ol T H, 9T I
Y foriioTd o o 918 AT |

(B) wfget & SF=eH oot o U1 BC
et i SEd G

(C) fodl 391 H S oH dTet sTedl b

@ H TS ] MW T¥ H

SEE ¥ foiiSTa & W AT

s

ot 39T H 15-45 99 T 3T St

Y forifora o o 918 AT |

(D)

T TAT IR Sl GIFT TG foea
STTEET B! T et Ufaerd & 2
(A) 40 Hfderd

(B) 10 Hfcerd

(C) 80 wfeeTa

(D)  0.10 Ut
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62.

63.

64.

65.

66.

SHEET H 1.0 ghE ST F AT G
1 T & | Tohee 1 qHT TR 2

(A) 2899 (B) 46ay

(C) 70a9 (D) 100 &

frfafed & ¥ f6ae g1 A1 9R &
T T Fehell & 2

(A) HAT TEEINT Siifad & & a9

(B) MR gg

(C) Tl ISt 3T

(D)  3TUTTAT TETEST STiferd T & a9

fore- S & foha 319 fasmasier

I H @ § 2

(A) <TTET 35%

(B) <TTHT 80%

(C) & 10 Tafera= ot

(D) U fafer= | &1

SHifRRt | eI URMe  faer

frefefad & & fhg o gam e 2

(A) FoiE, HiE, ST R F I
T 39 H

(B) T ToT STHIH 3R FF AfeA
3TIhT 39 |

(C) oRferan, uRd, o 3R & |

(D) SUIT 390 H F fopdt H ot T

afipeE (A) : 9Ra § T T e
IRAR T FEeT | gl Forl
¢ & SR 9Ra & F2 T B
TR STeT0T SR o T4 b
T | 31t off S & |

% (R) : THH &I HRU g ¢ o S
YR % A o Uil w el
STEFFHATE I &l ol T & |

[ TAN

(A) (A) 3R (R) SHI W € 3R (R),
(A) T T& TR E |

(B) (A) ¥R (R) 3HI @l € &R (R),
(A) Ff el =TT FE € |

(C) (A) W& &, &l (R) Toid & |

(D) (A) Tord €, wifeh (R) W& € |
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67.

68.

69.

70.

71.

The Sample Registration System in
India became operational in which
among the following periods ?

(A) 1963-64 (B) 1969-70
(C) 1973-74 (D) 1983-84

According to 2001 Census of India
percentage of the Scheduled Caste
population falls under which of the
following categories ?

(A) 10-13.9 %
(B) 14-17.9%
(C) 18-21.9%
(D) 22-24.9%

For the estimation of crude birth rate
the denominator is

(A) total population of the
respective geographical area

(B) total child population age
(0-4)
(C) mid-year population of the

respective calendar year

(D) female population in
reproductive age group in the
respective calendar year

As per the Sample Registration
Scheme (SRS) Bulletin October 2012
the estimated Crude Birth rate for the
country is (per thousand population)

(A) 14-16 (B) 17-19
(C) 20-22 (D) 23-25

Simon’s Model is consistent with

(A) population self-sufficiency and
constant economic growth

(B) low fertility and mortality

(C) a laissez-faire  population
policy

(D) economies of scale
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72.

73.

74.

75.

Longevity is a proxy for in
the Human Development Index.

(A) Health and Nutrition

(B) Living Standard

(C) Infant Mortality

(D) Purchasing Power Parity

A stationary population is when

population growth is
(A) increasing

(B) decreasing

(C) zero

(D) 100 %

Janani-Shishu Suraksha Yojana (JSY)
is a scheme operating under which of
the national programmes ?

(A) 1CDS (Integrated
Development Scheme)

(B) NRHM (National Rural Health

Child

Mission)

(C) NHM (National Health
Mission)

(D) NUHM (National Urban Health
Mission)

In the use of indirect methods of

estimation, P/F ratio is used to
estimate
(A) Fertility

(B) Mortality
(C) Nuptiality

(D) Intrinsic rate of growth
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67.

68.

69.

70.

71.

TR H UfdasT USiehoT JoTTelt e
T ¥ 5 emafy o =e] @i 7 92

(A) 1963-64 (B) 1969-70
(C) 1973-74 (D) 1983-84

IRA W SOATL, 2001 % IFAR
Sfd @t ufaerd S

?m%f@ﬁﬁﬁﬁwsﬁnﬁ%aiwiﬁaﬁ

0

(A) 10 — 13.9 wfera

(B) 14 — 17.9 ufaera

(C) 18 —21.9 UfTerd

(D) 22 — 24.9 Ufderd

WNYA S+ S % M & folw

feafer &

(A) TEfgd WFlfeie & & oA
=

(B) (0 — 4) @ & == B FA
ST

(C) Hafyd shelet a9 & T ad &i
S

(D) efud holel o | USTHHSIC
g T9E § et sl sHae

o WTLIA @HE  (TE 3R 1)

Feifed, TR, 2012 & 3TER I H
ST STMTYd S0 §F (WA T &R

SEE) €
(A) 14-16
(C) 20-22

(B) 17-19
(D) 23-25

oo

GERR R RETSED

qEHA & Tl i e
T GETAT & 2
(A) SHEE @R

amferep faepra

(B) T STHSTHAT AT Hedd

qdqr "dd

(C) TESTHAR SIS At

(D) URHTOTeTeh gomd
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72.

73.

74.

75.

e foeE SgEe § g %
forT TRieft & |
(A) TR qAT AT

(B) SfeM-TR
(C) ferey weherm
(D) sRRITeRT FHAT

R S a9 gidl € ST SHae gy
(A) TEET |
(B) = WE |
C) THE
(D) 100% & |

ST Ry HRE AT (S T aE)

e g T HE%H % A

fepan <t & 2

(A) o & I T (3T TweS
SITHE ThiH)

(B) T R UG UH (YN WA 74
o)

(C) U U™ UH (Fered g )

(D) ©™ J T T (R W &
e

3TIAM oI i STrcaet faferat s 3w
A WG, WAE W w ISW
ffefad & @ foras o o= e &
fere fepam < & 2

(A) ST=ETHT

(B) W

(C) danfeenar ToT (ATt

(D) i (=igfeh) Fie =
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UGC - NET EXAM JUNE 2013 DATE OF EXAM :08/09/2013
KEYS - PAPER 3

Subject (15 ) POPULATION STUDIES

Qno Answer Qno Answer
1 c 51 D
2 D 52 D
3 B 53 A
4 B 54 D
> D 55 c
6 A 56 D
7 c 57 D
8 B 58 c
9 A 59 A
10 B 60 B
11 c 61 A
12 P 62 c
13 P 63 D
14 B 64 B
15 c 65 A
16 B 66 A
17 B 67 B
18 A 68 B
19 D 69 C
20 B 70 c
21 c 71 c
22 A 72 A
23 D 73 C
24 A 74 B
25 c 75 A
26 B
27 A
28 D
29 B
30 D
31 c
32 B
33 D
34 A
35 B
36 c
37 c
38 B
39 *

40 B
41 D
42 c
43 A
44 c
45 B
46 c
47 B
48 c
49 B
50 c

"*" DENOTES MARKS GIVEN TO ALL CANDIDATES
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